O
=M 8=11 0 0 2 4
FH 9=0 4 0 5 0 0
O
F 1 ZAHAXEBEBEB=-HEERK
[=#) 82 1 2 3 4 4 5 6
X ARITRITARRRKREEZR
(Z) HF KF5 250 4 1 1 0 0 0 0 0 0 0 2 1 0
(ﬁ_?jx)%F’e‘ Ry 250 4 1 1 1 0 0 0 0 00 1 0 0
(/) BE ErE 000 3 1 0 1 0 0 0 0 1 0 1 0 1 Ok =3
()#ﬂﬂﬁﬁm—ﬁﬂ 500 4 1 2 0 0 0 0 0 0 0 0 2 0O iﬁ_’iﬁiﬁ_’%%
(¥8) 1LO £ A 750 4 2 3 1 0 0 0 0 0 0 0 1 0
(fr) HYE FEE 500 4 0 2 2 0 0 0 0 0 0 0 2 O
(5) =HF B 500 4 0 2 1 0 0 0 0 0 0 0 2 0
(—) #Fx}R B&ZX 000 3 1 0 0 0 0 0 0 0 0 1 0 O ]
(£) &% 2 000 2 0 0 0 0 0 010 0 0 0 O
T KT EBEXK 1,000 1 0 1 0 0 0 0 0 0 0 0 0 0
E NF BK -— 0 1 0 0 0 0 00 O0O0TUO0OTO0 O
A FER fAK -— 0 0 0 0 0 0 0 0 00O OO
=Y 364 33 8 12 6 0 0 06 1 1 0 5 8 1
F 1 ZAHXEBEBEB=-NEERXK
[SFH] 82 1 2 3 4 4 5 6
X HARITRITARRRKREEZR
(%=) &H 1hE 667 3 1 2 0 0 0 0 0 1 0 0 0 1 =& M - EBEd - BEd -
(Z) ®FH%F BN 3333 1.1 0 000001010 =] ?Q:l“ -o- BEEK - -
(%) B8H HC 500 2 1 1 1 0000201 20 ok PEEg - mER .- &I
(38) dhig —7&E 750 4 1 3 3 0 0 0 0 000 2 0 EZ | A7 IR - h 7R
(BE) Lk K¥ 000 3 0 0 0 0 0 0 1010 1 2 =3 _:| ﬁzﬂz e =R
(—) HH &HmX 1,000 2 2 2 0 0 0 0 0 1 0 0 0 0 ﬂz-
() & ZiE 667 3 1 2 1 0 0 0 0 0 0 0 1 1 ﬁ%----
() 8 BN 000 2 0 0 0 0 1 0 0 0 0 0 1 0 -TxﬂFﬁ?;T%*’
(££) =M B 667 3 2 2 2 0 0 0 0 0 0 0 0 O - Y - -75
=Y 520 25 9 13 7 01 01 4 2 1 8 4
hit ARB(IE 2@)-FHR BACH)-EE (EE0GE) -Fa & 6E)
[=#1) e 51 (40)
e KA (48])
LA £
e I&YH
=Y
2H A 4mE)
[SFF] Lt XEOE 6E)-EE HEQE)-Z ZHiE(6E)
gl thE4mE)
20 BE S£H tHZCQOH)-2&H E3(6m)
20 Ed
=Y

Boxscore generated by EasyScore - Copyrights 2018 OmyuTech. https://baseball. omyutech. com



